ENGR-2060

E.M. - DYNAMICS

NAME DATE

PrRoOoBLEM: 002

GIVEN:

The acceleration of a point is a =

20r m/s*. When r=0.s =40m and v = —10 nys.
What are the position and velocity at t = 3 s?

REQUIRED:
L]
SOLUTION:
Solution: The velocity is Att =0, s = 40 m, thus ¢, = 40. The position is
|-:f{m’!+('-_. .\.':(1—5):'1—10!-}—4001
where Cy is the constant of integration. Thus At i = 3 seconds,
|-:f30am+(';:1m-+c'1. s=[£a-‘—mr—¢u e
3 de=3
At 1 =0, v=-—10 mfs, hence ¢y =—10 and the velocity is v =
101% — 10 m/s. The position is The velocity at 1 = 3 seconds is
5= f‘.-a’!+(_'1. | v=[107 —10],_, =80 s |

where C; is the constant of integration.

5= fuuF —10)di + Ca = (1—5] £ — 100 + Ca.
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